
920-556

920-556 Dumps
920-556 Braindumps
920-556 Real Questions
920-556 Practice Test
920-556 Actual Questions

killexams.com

Nortel

CDMA P-MCS Commissioning and Nortel Integration

https://killexams.com/pass4sure/exam-detail/920-556

https://killexams.com/exam-price-comparison/920-556


QUESTION: 45
 
Given the following Unix command:
 
chmod 700 /opt/apache/conf/ssl.crt/server.crt
 
What is the result?
 

A. It changes file server.crt to group id 700 
B. It changes file server.crt to a block size of 700 
C. It changes the owner of file server.crt to uid 700 
D. It changes the owner of file server.crt to have full access. 

Answer: D 

QUESTION: 46
 
Which statement about co-residing applications for the CS2000 Management Tools (CMT)
 
server is accurate?
 

A. No applications are allowed to co-reside on the CMT server. 
B. When applications co-reside, only CMT and IEMS share the same IP address. 
C. When applications co-reside, IEMS, CMT, and Audio Provisioning Server (APS) share 
the same IP address. 
D. When Integrated Element Management System (IEMS) co-resides on the CMT it has a 
separate application IP address. 

Answer: D 

QUESTION: 47 
Which statement describes the role of the BootP service on the Core and Billing Manager 
(CBM)? 

A. It provides a time provider service. 
B. It provides an image loading service. 
C. It provides a remote storage service. 
D. It provides a boot partitioning service. 

Answer: B 

QUESTION: 48 
After selecting the Integrated Element Management System (IEMS) JWS client option, you 
notice that the login page appears to hang with no response. What is the probable cause of 
the problem? 
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A. BootP Service mis-configuration 
B. Network File System (NFS) mis-configuration 
C. Network Time Protocol (NTP) mis-configuration 
D. Domain Name Services (DNS) mis-configuration 

Answer: D 

QUESTION: 49 
Which statement describes the functionality of the virtual IP address, when clustering the 
Netra 240 servers in the high-availability environment? 

A. It is mapped to the active server. 
B. It functions as a standby IP address. 
C. It functions as the internal point-to-point IP interface. 
D. It is mapped as the physical IP interface of the inactive server. 

Answer: A 

QUESTION: 50 
Which UNIX command will prompt for entry of a new password two times, to change the 
password for userid aint? 

A. passwd maint 
B. chguser maint 
C. password maint 
D. passchange 2 maint 

Answer: A 
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